

Solutions/Lösungen

Bitte kontrolliert eure Lösungen gewissenhaft! Achtet auch auf richtige Rechtschreibung 😊

UE 1:

(2) individuelle Lösungen: z.B.

- Gillian is meeting her father. Rajiv is doing his homework or helping in his parents' shop
- G. is so excited because he sees two pickpockets who are taking away a girl's money
- I think the kids can help but they must run fast

(3)

a) Grace often plays basketball but today she is reading a book.

Kemi and her father usually watch a film on Saturdays but today they are cooking noodles.

Usually Ian plays football after school but now he is buying a new computer game.

Mr Lambraki never helps at home but today he is hoovering the living room.

b) Grace: "Hi Kemi. Sorry, I can't come, I 1 am looking after my cousin, Ben. He's four. My mum usually 2 does it, but today she 3 is watching a film at the cinema with my aunt. They often 4 go to the cinema together. Ben is really cute. He 5 goes to kindergarten every day. Now he 6 is drawing a picture. He 7 is sitting on the floor next to me. And you? What 8 are you doing? You 9 are talking to me on the phone? Very funny!"

(4) siehe LiF 17

Extra task: P 15 + 16

P 15: The stegosaurus often eats plants but now it is eating noodles. 2. The tyrannosaurus often watches other dinosaurs but at the moment it is visiting Pirate ... 3. The camarasaurus often walks on four legs but now it is taking the bus. 4. The allosaurus usually eats other dinosaurs but now it is buying a hamburger. 5. The supersaurus often sleeps but at the moment it is scaring tourists.

P16:

- a.) No, he doesn't. Rajiv phones Charlie. 2. No, they don't. 3. Yes, they do. 4. Yes, he does. 5. No, she doesn't. Caroline buys a T-shirt. 6. No, they don't. They steal a purse.

b.) *Individuelle Lösung: z.B.*

Do Caroline and George go on the waterbus tour with only their grandfather? – No, they don't. (They go on the tour with their grandfather and their grandmother.) Does Rajiv do his homework on Sunday afternoon? – No, he doesn't. (He does his homework on Saturday afternoon.) Does Emma score a goal? (No, she doesn't. Gillian scores a goal.) Does Charlie eat chocolate? (No, he doesn't. He eats crisps.) Does Gillian watch the street artist at Camden Lock Market? (No, she doesn't. She doesn't go to Camden Lock Market with her friends. She meets her dad.) Do the pickpockets steal in the market hall, too? (Yes, they do.)

UE 2:

(1) Individuelle Lösungen – wichtig – bei Bildbeschreibungen present progressive verwenden!

(3)

1. George saw the two pickpockets again at Camden Lock Market. 2. The pickpockets took another purse so the friends went up to the gallery. 3. George talked to a policeman but the policeman laughed at his story. 4. Caroline went to the main entrance and waited for George and the policeman. 5. Charlie saw the pickpockets from the gallery so George switched on his mobile phone. 6. The pickpockets started to run away but the policeman stopped them.

UE 3:

(1) Individuelle Lösungen

Extra task: p. 82, C10

Are you a good detective?

1. The owner of the brown purse is standing in front of the stall with the pictures, on page 81. He is wearing a red tie with white dots. (You can see him again in the picture on page 82.)

2. The owner of the red purse is in the picture on page 80. She is watching the street artist. George is shouting at her because the pickpockets are taking her purse.

3. The owner of the green purse is a woman. She is wearing a green dress and carrying a black bag. She is talking to a man in front of the CD and DVD stall.

UE 4:

(2) Linking sentences, P17

Lösungsvorschlag

The friends saw two pickpockets. When George shouted at the pickpockets, they ran away. Later the friends went shopping at Camden Lock Market and saw the pickpockets again. They wanted to follow them but there were a lot of people in the market hall. So the friends went upstairs to the gallery. At that moment the pickpockets stole a woman's purse. Emma ran down the stairs because she wanted to follow the pickpockets. George sprinted out of the market hall and saw a policeman. He talked to the policeman but the policeman laughed. When George and the policeman arrived, Charlie pointed to a stall. The policeman stopped the pickpockets. At that moment three purses fell out of their coats.

Extra task: siehe LiF 18

Corona 4. Woche (Lösungsblatt)

1. Teil:

Buch S. 116 Nr.2 :	Lösungswort: INLINESKATER
Buch S. 116 Nr. 4a	$4384 : 8 = 548$
Nr. 4b	$5929 : 7 = 847$
Nr. 4c	$4383 : 9 = 487$ Die Zahl 487 muss mit 9 multipliziert werden, um 4383 zu erhalten.
Nr. 4d	$5784 : 6 = 964$
Nr. 4e	$23588 : 4 = 5897$
AH S. 31 Nr. 1	Siehe Lösungsheft

2. Teil:

Übungen:	
1. Aufgabe	481
2. Aufg.	56
3. Aufg.	589
4. Aufg.	614
5. Aufg.	382
Buch S. 118 Nr. 18 a	13
Nr. 18 b	66
Nr. 18 c	88 R 45
Nr. 18 d	108 R 207
S. 118 Nr. 19	Sauerstoffverbrauch des Flugzeugs: $60 \cdot 600 = 36000$ kg Anzahl der Buchen: $36000 : 2 = 18000$ 18000 Buchen werden benötigt.

3. Teil:

$60216 : 12 = 5018$
$81208 : 4 = 20302$
$27235 : 13 = 2095$
$2406 : 6 = 401$
$737088 : 32 = 23034$
$630238 : 14 = 45017$
$979858 : 11 = 89078$
$81684 : 12 = 6807$

4. Teil : Sachaufgaben

AH S. 32	Siehe Lösungen
----------	----------------

Buch S. 121 Nr. 5

	Anzahl der Plätze	Preis pro Platz	Einnahmen
Reihe 1 - 10	300	4	$300 \cdot 4 = 1200$
Reihe 11 - 15	150	5	$150 \cdot 5 = 750$
Reihe 16- 20	150	5,50	$150 \cdot 5,50 = 825$
Reihe 21 - 25	150	7	$150 \cdot 7 = 1050$
Summe	750		3825

Pro Platz: $3825 : 750 = 5,10 \text{ €}$